

$$\boxed{1} \quad (1) \quad x = \frac{\sqrt{5}+1}{\sqrt{5}-1} = \text{略} = \frac{3+\sqrt{5}}{2}$$

$$\frac{1}{x} = \frac{\sqrt{5}-1}{\sqrt{5}+1} = \text{略} = \frac{3-\sqrt{5}}{2}$$

$$\textcircled{1} \quad x + \frac{1}{x} =$$

$$\text{次に、} \quad x - \frac{1}{x} =$$

$$\textcircled{2} \quad x^2 - \frac{1}{x^2} =$$

$$\underline{\text{公式}} \quad \boxed{a^2 + b^2 = (\quad)^2 - \quad} \quad \text{付}$$

$$\textcircled{3} \quad x^2 + \frac{1}{x^2} =$$

$$\textcircled{4} \quad x^4 + \frac{1}{x^4} =$$

$$(2) \quad x = \frac{3+\sqrt{5}}{2} \quad 1 < x < 7$$

$$\square < \sqrt{5} < \square \iff \square < 3 + \sqrt{5} < \square$$

$$\iff \square < \frac{3+\sqrt{5}}{2} < \square$$

よて、 $(x$ の整数部分) $=$

$(x$ の小数部分) $a =$

$$\text{次に、} \quad a^2 + a =$$

$$\text{よて} \quad \frac{\sqrt{a+1} - \sqrt{a}}{\sqrt{a+1} + \sqrt{a}} =$$

$$(3) \quad \sqrt{x^2 - 6x + 9} + \sqrt{9x^2 + 6x + 1} = \sqrt{(x-3)^2} + \sqrt{(3x+1)^2}$$

$$= |x-3| + |3x+1|$$

$=$

解 (ア) 3 (イ) 3 (ウ) $3\sqrt{5}$ (エ) 7 (オ) 47

(カ) $\frac{\sqrt{5}-1}{2}$ (ク) 1 (ケ) $\sqrt{5}-2$ (コ) $7+\sqrt{5}$